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PART-A / Hkkx&v [Marks :16]

Answer all eight questions (Maximum 50 words each).

All questions carry equal marks.

lHkh vkB iz'uksa ds mRrj nhft,A izR;sd iz'u dk mRrj 50 'kCnksas ls vf/kd u gksA
 lHkh iz'uksa ds vad leku gSaA

PART-B / Hkkx&c [Marks :40]

Answer five questions (Maximum 200 words each)

selecting one from each unit. All questions carry equal marks.

izR;sd bdkbZ ls ,d iz'u pqurs gq,] dqy ik¡p iz'uksa ds mRrj nhft,A izR;sd iz'u dk mRrj
200 'kCnksas ls vf/kd u gksA lHkh iz'uksa ds vad leku gSaA

PART-C / Hkkx&l [Marks :24]

Answer any two questions (Maximum 300 words each).

All questions carry equal marks.

fdUgha nks iz'uksa ds mRrj nhft,A izR;sd iz'u dk mRrj 300 'kCnksas ls vf/kd u gksA
lHkh iz'uksa ds vad leku gSaA

[P.T.O.]
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PART-A / Hkkx&v

1. (i) What do you mean by circular flow of income?

vk; ds pØh; izokg ls vki D;k le>rs gSa\

(ii) Write the name of four sectors of economy.

vFkZO;oLFkk ds pkj {ks=ksa ds uke fyf[k,A

(iii) Write the name of any three measures of national income.

jk"Vªh; vk; ds fdUgha rhu ekiksa ds uke fyf[k,A

(iv) What is the difference between shortrun and longrun consumption function?

vYidkyhu ,oa nh?kZdkyhu miHkksx Qyu esa D;k vUrj gS\

(v) What do you understand by MEC (Marginal Efficiency of Capita)?

iwath dh lhekar dq'kyrk ls vki D;k le>rs gSa\

(vi) What is difference between autonomous Investment and Induced Investement.

izsfjr fuos'k ,oa Lok;Ùk fuos'k esa D;k vUrj gS\

(vii) What is liquidity trap?

rjyrk tky D;k gS\

(viii) What is high-powered money?

mPpLrjh; eqnzk D;k gS\

PART-B / Hkkx&c

UNIT-I / bdkbZ&I

2. What do you understand by National Income? Is national income an accurate indicator

of development?

jk"Vªh; vk; ls vki D;k le>rs gSa\ D;k jk"Vªh; vk; fodkl dk lgh ladsrd gS\
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OR / vFkok

How do we measure economic welfare?

vkfFkZd dY;k.k dks dSls ekik tkrk gS\

UNIT-II / bdkbZ&II

3. Explain circular flow of national income.

jk"Vªh; vk; ds pØkdkj izokg dh O;k[;k dhft,A

OR / vFkok

Discuss the structure and importance of social accounting.

lkekftd ys[kkadu dh lajpuk ,oa egÙo dh foospuk dhft,A

UNIT-III / bdkbZ&III

4. Explain Keynes's psychological Law of Consumption.

dhUl ds miHkksx ds eukSoSKkfud fu;e dh O;k[;k dhft,A

OR / vFkok

What is APC (Average propensity to consume) and MPC (Marginal propensity to

consume)? How do they change in different consumption functions?

vkSlr miHkksx izo`fÙk ,oa lhekar miHkksx izo`fÙk D;k gS\ fofHkUu miHkksx Qyuksa eas ;s fdl izdkj

cnyrh gaS\

UNIT-IV / bdkbZ&IV

5. Write a short note on the following :

fuEufyf[kr ij laf{kIr fVIi.kh fyf[k, %

(i) Accelerator Theory of Investment

fuos'k dk Rojd fl)kar

OR / vFkok

(ii) Tobin's 'q' Theory of Investment

Vksfcu dk fuos'k dk 'q' fl)kar

[P.T.O.]
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UNIT-V / bdkbZ&V

6. Discuss the view of Baumol towards demand for money.

eqnzk dh ekax ds lEcU/k esa ck¡eksy ds n`f"Vdks.k dh O;k[;k dhft,A

OR / vFkok

Explain Tobin's portfolio approach.

Vksfcu ds iksVZQksfy;ks n`f"Vdks.k dks le>kb;sA

PART-C / Hkkx&l

7. Explain the equilibrium of national income is Keynesian Model with reference to

two sector economy.

nks {ks=h; vFkZO;oLFkk ds lUnHkZ esa dsusfl;u ekWMy esa jk"Vªh; vk; ds larqyu dh O;k[;k dhft,A

8. Write notes on the following :

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(i) Relative Income Theory of Consumption

miHkksx dk lkis{k vk; fl)kUr

(ii) Life Cycle Theory of Consumption

miHkksx dk thou pØ fl)kar

9. Explain through IS/LM model, how interest rate is affected by increase in supply of

money. .

IS/LM ekWMy }kjk ;g Li"V dhft, fd eqnzk dh iwfrZ esa of̀) ls C;kt nj dSls izHkkfor gksrh gSA

10. Explain the circular flow of income in four-sectoral economy.

pkj&{ks=h; vFkZO;oLFkk ds vUrxZr vk; ds pØh; izokg dks le>kb,A

------- x -------


